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1 A 
2 C 
3 Assertion is true, reason is false 
4 Given, f(x) = |x| + x and g(x) = |x| – x, ∀ x ∈ R. 

 
Thus, for x ≥ 0,gof (x) = g(f(x)) = g(2x) = 0 
and for x < 0, gof(x) = g(f(x)) = g(0) = 0 ⇒ gof(x) = 0, ∀ x ∈ R Similarly, for x > 
0, fog (x) = f(g(x)) = f(0) = 0 
and for x < 0, fog (x) = f(g(x)) = f(-2x) 
= 2(-2x) = -4x 

 We have, gof(x) = 0, ∀ x ∈ R. 

 
Clearly, fg(-3) = -4(-3) = 12, 
fog(5) = 0 and gof(-2) = 0 

5 R is Reflexive if (a, b) R (a, b) for (a, b) in N × N 
 Let (a, b) R (a, b) ⇒ a + b = b + a which is true since addition is 
commutative on N. ⇒ 
 R is reflexive.  
R is Symmetric if (a, b) R (c, d) ⇒ (c, d) R (a, b) for (a, b), (c, d) in N × 
N 
Let (a, b) R (c, d)  
⇒ a + d = b + c  
⇒ b + c = a + d  
⇒ c + b = d + a [since addition is commutative on N]  
⇒ (c, d) R (a, b)  
⇒ R is symmetric.  
R is Transitive if (a, b) R (c, d) and (c, d) R (e, f) ⇒ (a, b) R (e, f)  



for (a, b), (c, d),(e, f) in N × N  
Let (a, b) R (c, d) and (c, d) R (e, f)  
⇒ a + d = b + c and c + f = d + e  
⇒ (a + d) – (d + e) = (b + c) – (c + f)  
⇒ a - e = b - f  
⇒ a + f = b + e ⇒ (a, b) R (e, f) 
 ⇒ R is transitive. 

6 

gof (x) =  

 

 

Which implies that gof = IB 

And Fog = IA 
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9 fing gof and fog 

10 (i)  𝟔𝟐 
(ii) (d) None of these three 
(iii) Reflexive and Transitive 
(iv) 𝟐𝟏𝟐 

 


